Geometry Midterm Review
Name:

L. Show your work.

a. Calculate the value of x.
25
b. Calculate the value of .
R
c. Calculate the value of z. |

24

2. Multiple Choice: Which of the following lengths cannot form a triangle?
I 3,4,6 IL 5,6,13 . 6,7, 13
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I and III
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3. Multiple Choice: The Ie’ng‘thr of the line segment joining the points (-2, 3) and (4,-2) is:
A 3 :

B.
C.
? . none of these

4. Multiple Choice: A right triangle has a hypotenuse of 5 and one leg with length of 2. What is the
length of the other leg. :
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5. Find the area of this figure. Show your dissections and any sub problems you use.
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6. Find the area of each of these figures.

a. b.
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7. Draw the triangle that results when is A4BC rotated / (/ [
180° counterclockwise about the origin. You may use ra v N1 tAB
tracing paper m >
pEer.
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8. Four lines intersect as shown in the figure at right.
If z= 40° what is the value of x+y? -
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9. For each pair of triangles below, decide if the tri

angles are similar. If so, make a flowchart and find the value of
x. If not, or there is not enough information, descri

be why not or what information is missing.
a.
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10. Ca late X. Include t $ In your solution and the definitions and/or conjectures that you use.
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11. Calculate the area and p;;u;e;er of the trapeéf;id below. Show your work.
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12. Find the measure of angle a in the diagram below.
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13. Tyree planned to build a ramp from his window to the sidéewalk so he could skateboard right out his
window on his way to school. His window is 5 feet off the ground and the sidewalk is 20 feet from his

house.

a. Draw a diagram to represent this situation. _,_1
% SH
e
20+
b. How long will Tyree’s ramp need to be to make it from his window to the sidewalk?

D02 fot , phed 1k Ftgean Thore

c. He knows that if the angle the ramp makes with the ground is more than 20° he will gain too
much speed and lose control when he hits the sidewalk. Find the angle his ramp will make with
the ground to determine whether or not his ramp plan will be safe.

o = 5 |
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14. Examine the diagram below. Then use the information provided in the diagram to find the measures
of angles a through g. For each angle, name the angle relationship that helped justify your.
conclusion.
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15. Plot the points 4(-3, -2) and B(2, 4), and connect them to form l BI
AB . What is the length of 4B ? How do you know? Show N
your work and justify your response. \'ig -~ b
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16. Calculate the value of x for each triangle below. Show all work. Note: pictures are not drawn to scale.

w3t - R
X= 3.5

17. Jerome needs to place a fence around his flowerbed and his yard so that his dog can only run in the
grassy area. Note: the yard is shaded in the _

figure at right.

a. How much area will Jerome’s dog
have to run in? Show all work and
subproblems.

(1w (£1:0) = (s
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b. How much fencing will Jerome need t

o buy to keep his dog in the yard but out of
the flowerbed? — ‘
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18. When Feng’s brother bragged that he had climbed 120 feet to the top of the oak tree down at the park,
Feng decided to try to prove him wrong. She went to the park and stood 20 feet from the base of the
tree. She then used her clinometer to measure the angle of elevation to the top of the tree and got an

angle measure of 72°. Her eye height was 5 feet. Assuming her brother did climb to the top of the
tree, did he climb 120 feet up the tree? Justify your answer.
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19. What are the possible lengths for side ML in the triangle at right? Show how M"\\\
you know. ' A\
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20. Dilate the shape below using a zoom factor of 3 from the origin.

21. True of False? If false, state why.

i Ifa shape is magnified by a factor of k, the ratio of perimeters between the new figure and the
original figure is k.

F If two shapes are congruent, then their zoom factor 1s zero
i All equilateral triangles are similar.

F All rectangles are similar. : -

F If a shape is magnified by a factor of k, the ratio of areas between the new figure and the vriginal
figure is k.



